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S®Hls — 1 (UNIT-1)
I 1 — GAEH AR fas
Chapter 1 — Resources and Development

(TUS- &) TS T

(Section-A) Objective Questions

1.

AT i (e SEa) Teash o TRash i 8-

Who is the author of the book "Silent Spring"?

(39) aﬁtm“raﬁ@n (a) Eugene P. Odum
(@) = HTET (b) Rachel Carson
@) ST A e (c) James Lyons Weiler

(®) .37 faee (d) E. O. Wilson
FHIT-STT G T RIS SATITIHAT Tl 2-
Statement - There is no need for water conservation-

FRT- A1 S § T STt Tk o T (=) grar g |

Reason — Rainwater recharge groundwater.

3) Facl hUT & 7 a) Only statement is correct

) haeT HIOT Hal B b) Only reason is correct

o) hYq 3R T ST Tl 2 | c¢) Both statement and reason are correct
T) Y 3T FHRT ST 7T 2 d) Both statement and reason are incorrect

HUSTHT ATHT ST FTeR0T 0T S8 dfereh aftfberfersh Hendi o i qed shior = 27

What is the main cause behind global crises like climate change and environmental

pollution?

(3) GHTEMT S T (a) Lack of resources

(&) o BT H ST BT Ear (b) Accumulation of resources in the hands of

some people
(3) TETET T ST dre
() GETEAT 3T EHd ST

(c) Indiscriminate exploitation of resources

(d) Limited use of resources
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4. o= fafaa & i o fftfa e -

Which of the following is a man-made resource?

(37) Ugiferm (a) Petroleum
@) 3 (b) Forest

(®) AT (c) Machine
() W& (d) Livestock

Statement - Forest are a renewable resource.

chILY]- ST o 1T ST 3T & 3 Sl %-

Reason - As much forest is cut down, that much grows back naturally.

(37) had U T (a) Only statement is correct
() ShaeT HTIT T 2 (b) Only reason is correct
(H) puq 3T FHRT ST Tal Bl (c) Both statement and reason are correct
(3) Y 3T HROT T T 2 (d) Both statement and reason are incorrect
(@us-a) Teeh Tormt <t g g -
(Section-B) Fill in the blanks:
1 SR TR et TS
Canal ......cccovenenne. has been taken out from Harike Dam.
2 TR e HTH HETE ¢ |
The basis of development is ...................... resource.
3 AT A I RGN v, 2
The source of energy in the future is ..................
4 g gt 1 o =Sl 7 ST FATR, 3% oo Ed gl

The things which humans use from nature are called ......................

Endosulfanisa ....cccccuuu......... medicine.
I - 1 gfe el 2 Wrepfaes 3 g 4 €T 5 e

Answer — 1 Indira Gandhi 2 Natural 3 Sun 4 Resources 5 Pesticides
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(wTE- ) ST e A -

(Section-C) Match the following:

1 1T 7 foehey - (37) Sfereh TwTe
Alternative to coal - (a) Biological resource
2 97- () THRI ©TE &
Air - (b) From chemical fertilizer
3y fugh wgwor - (§) |aq AR
Air and soil pollution - (c) Continuous renewable
4 g TR - (3) TRHTY] St
Iron ore - (d) Nuclear energy
5  @fHsdd - (3) ThI SR

Mineral oil -

(e) Cyclic non-renewable

SW-1(3),2(#),3(#),4(3) 5 ()

Answer- 1 (d), 2 (¢c), 3 (b), 4 (e) 5 (a)

fa o1y I 94 - (2 3Fh)

Very Short Answers Questions - (2 Marks)
T 1 Y[ 0T GTHAT T S ?

Q. 1. What do you mean by sink capacity?

T 2. SR ST TR ?

Q. 2. What are non-renewable resource?

w17 3 ferera Seanet o foTw et ot forshed T &1 wehaT © 2

Q. 3. What can be the alternative of coal for production of electricity?
T4 4. STeh{cieh HETeH foRE hEd & 2

Q. 4. What is called a natural resource?

ST 5. 319 3% e Hohd & foh LT H o &1 SIgd FH 8 2

Q. 5. How can you say that forest area is very less in India?

T 6 GETY forera SRl fore TehR eTferd shtar 22

Q. 6. How does resource affect development?
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Y I T (4 37eh)

Short Answers Questions - (4 Marks) d
T 1. ST SETE T Hod Hgea Ul T AT T ©

Q. 1. Why is water resource considered the most important?

53 2. T o, e 3hT GaI SHATT ford JehTt ot Wl & 2

Q. 2. Everyday we throw waste materials in our house which can be recycled. How?

w5 3. THET o Tell=1eRtor o foTq FT-arT 3UT FeRT STT &kl &7

Q. 3. What measures can be taken for soil renewal?

T 4. T IH0T GHTEN Te SR HETE T hig 9 A< foTRay) PN
Q. 4. Write any four differences between renewable and non-renewable resources.

T 5. VSIS AT o ToA T SUT ShaAT BT 2

Q. 5. What measures need to be taken for groundwater renewal?

T 6. T Torg]d 3T o foIq & shiaret ot fvi &1 =nfee 2 geh forshed I &t wehd &2

Q. 6. Should we be dependent on coal for electricity production? What could be its

alternatives?




AT 2 — A EAE

o

[ Chapter 2 — Land Resources o
(TUS- oY) TS T
(Section-A) Objective Questions
1. a1 G & fIe hiF-|r 3urT Suamt & 2
Which measure is useful for soil conservation?
(3) EIQ\'JFGﬁ 1 =TS 9T T (a) Controlling animal grazing
€)) ‘ocf?a'l'atl'UT‘cFGT (b) Tree plantation & NS
b €3)) ek @rg T 3TANT (c) Use of organic manure p
(3) SHIh Tt (d) All of the above
2. IR A& H TRt ST R -
What is found in the Thar desert?
(37) STATE HaT (a) Alluviala soil
GRS (b) Dry soil
ﬁ_/2 QERRE (c) Forest soil
’”:;?/ OEISIK (d) Black soil

3. WA H foha gfdera v fer 27

What is the percentage of plains in India?

(37) 30 sfqrerd (a) 30 percent

() 43 wfowma (b) 43 percent T
(@) 27 uferd (c) 27 percent ~|'. 1"-..
() 56 Sfara (d) 56 percent B
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4. 9Rd H ged Aok foean fore fugt s @2

Which type of soil has the most extent in India? d
(3) whredt (a) Black

(&) Ttz (b) Laterite

(H) STeAts (¢) Alluvial

(&) eI (d) Mountainous

5. DA o AR 9T H -t frg) arft STt 2:

In most place of Chhattisgarh which soil is found:

(3) Aewrse gt
(=) et fergt

(W) HeEred fugh
(%) et ot farh

(a) Laterite soil & NS
(b) Black soil
(c) Desert soil

(d) Red-yellow soil

6.  wataofia gfy & forda fererd -7t o ST =R

According to environmental balance how much percent land should be covered with

forest?

(37) 33 gfawra
(sT) 40 SferTa

(H) 43 g
(3) 50 St

JW:1-€,2-93-9,4-9,5-T,6-

Answers: 1-d,2-b,3-b,4-¢,5-d,6-a

(a) 33 percent

(b) 40 percent

(c) 43 percent

(d) 50 percent
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(Tus-a) fw Tamt Y gid ik -
(Section-B) Fill in the blanks:

1

............... VIH 6T T | FE HT IcdTaH B

The production of crops will decrease due to the shortage of ............

Qe DTS T8 B AT oo Vi el € |

The uncultivated agricultural land is called .................. land.

L I T 1Y o 7T FoE HEaqUi 2

The ............ layer of the soil is the most important for agriculture.

I (Answer)-

1.
2. FY- Agriculture
3. Ol - Fallow

4.

5. Sifaes - Organic

42 g - 42 percent

99 - Forest

(@UE- T) Sfera daer Jfeu -

(Section-C) Match the following:

N A W N P O A W N -

EEREEE (37) 43 gl

U e - CIELER

it frfi @ - (T) SN o BT
At & IueTeY - (3) Tk @E &
forgt g - (3) AT HHA IcaTa
Shortage in grazing land - (a) 43 percent

Land conservation - (b) Reduced agriculture
Due to the shortage of soil -
Plains region available -

Soil pollution -

-1 (H), 2. (3) 3 (F),4(3),5@)
Answer- 1 (c), 2 (e), 3 (b), 4 (a) 5 (d)

10

(c) Because of industries

(d) Due to chemical fertilizers

(e) Increased crop production
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Ftf oTg 3T T4 - (2 3Fh)

Very Short Answers Questions - (2 Marks)

w57 1. fore yerr ot firgh & roft ot sy <Y erma 21frek Bt 22

Q. 1. Which type of soil has a higher capacity to retain moisture?

7 2. TN 0 T T | AT T T 2

Q. 2. What will be the impact of the shortage of agricultural land?
T4 3. Tietrge Hel ot a1 formivaTd sy 2

Q. 3. State two characteristics of laterite soil?

T 4. TREATHRT (I[5) Tt oh1 1Y ok [T STARTT S ST ST &ehell & 2

Q. 4. How can desert (arid) soil be made useful for agriculture?

7 5. a1 o fmior 7 St forer ST Ue Heeaqu sifieRT FrTelt 82

Q. 5. How do rocks play a significant role in soil formation?

T 6. I HETE T HECAqU! T HAT ST @ 2

Q. 6. Why are land resources considered important?

Y I T (4 37h)

Short Answers Questions - (4 Marks)

-1 y-3ferrer sttt 2013 9 e STferal

Q. 1 Explain the Land Acquisition Act of 2013.

T5-2 YH T AT ST & ? $Heh ohi=-shiT U cilieh 8?2

Q. 2 Why is land management essential? What are its methods?
-3, TRt fH, SR ofe & it €, wom il 2

Q. 3. Clarify how fallow land is different from barren land?

11




1 4. FrAfaRad 9 =1 § WRd U6 BTG o S[fH STANT TGIRId fohaT 711 8 | 36 <1

% STETI i 3T T Tt o IS -

S A
J I STET 9RT 2010-11 9 IwEhT BT
f The pie-chart below depicts land use in India and Chhattisgarh. Study the chart and

answer the following questions:

y)
& %
U, o
Pasture land 460\ 0//01"
Barren lan : 6&}&‘ %,
0/,0
T g %, "-9/
Fallow lan, K4
- Forest land
Non- %
agricultural =g
land
Agricultural
land
Agricultural land Orchards
Land use in India (2010-11) Land use in Chhattisgarh (2010-11)

1. TR Sl T H BerTe H Tordt oty oh1 ST Sfreh o forersht it 22

In comparison to India, which type of land is more prevalent in Chhattisgarh and
which is less?

2. Torer I ST SITCITT IR ST T 5 TG H ST AT 87
Which type of land is approximately double in Chhattisgarh compared to India?

3. Srag | fore Serr sht ifH T ST Saifersh & Tel =RS {1 SfoRTd el 1o & 2
Which type of land is most prevalent in Chhattisgarh, and where is the percentage
of grazing land highest?

12




AT 17 — (A1 & qHst
Chapter 17 — Understanding Development

(TUS- &) T8 T

(Section-A) Objective Questions

1.

HTeISIeh GferemaTi i T & 2

Examples of public services are?

(37) TTHR T STIATA WIeHT (a) Opening hospital by the government.

(CIRICANEINES NREICE] (b) Opening school by the government. & g

(H) GLhR T 3AMHETS! shes @i (¢) Opening Anganwadi center by the

government.
() 39 |+t (d) All of these.
frefaftad 5 @ &9 ST o foTe T fashrarcs ae @ 2

Which of the following is a developmental characteristic for an industrialist?

(37) I 9 1T AT (a) Getting work throughout the year.

() d&H Iﬁlﬂﬁ EICH] (b) Better wages.

€3] SIDEREE KRBT (c) Getting more electricity.

(]) AE™H aﬁgj%rmtrm (d) Getting housing facilities.

ST S, R eref 7 2

What is the meaning of GDP?

(37) Tehel ST IUTE (a) Gross Dairy Product.

() ¥hd u\{vlt.\dcqlc; (b) Gross Domestic Product.

) EEEEAL A TRISE) (c) Great Development Project. Ty
OESRISGERI (d) Great Domestic Product. I‘"_

ST o forehTer shT qtHIT i T Heil Haca Ul AT T 87

What is the most important criterion for comparing the development of countries?

13



(37) "ETEgH (a) Resources.

2N (1) SEEAT (b) Population. d
€3) AT (c) Average income.
) IUUH | G HIS & (d) None of the above.

5. OHR ERI forsteft 31 gl Sem st St 2:
The government provides electricity facilities for:

(37) Al forsTeft 3w i & o (a) For using extra electricity.

€)) 9 A & o (b) To earn money.
(@) Gras-e fad & fote (c) For public welfare. N
’ (F) T T o fTT (d) For government offices. i

- 1(3),2 (@), 3 @), 4 (@), 5 @)
Answer- 1 (d), 2 (c), 3 (b), 4 (c), 5 ()
(True-aT) fies Tt st afd Hif -
(Section-B) Fill in the blanks:
1 Sd I ........... AT it HET ST =

The average income is also called ............ income.

2 g¥2011 H WA 1 ST I&AEM ..o LR

e,
A -\\)\( \

ﬁ/ In 2011, India's life expectancy was ............ years
N 3 e S 35 G U 1R % i ST e et o gt 21
....................... indicates the average estimated lifespan of a person at birth.
4 A AE AT AATE oo HER |
Per capita income is just one .................. income.

IW- 1. Tfdeath, 2. 67, 3. St JeImem, 4 3fEd

Answer- 1. Per capita, 2. 67, 3. Life expectancy, 4 Average

14



ol

4

[
A |
——— \\<' }

(wTE- ) ST e A -

(Section-C) Match the following:

1 S o g - (1) Tarem uef Tamee
Negative effects of industries - (a) Education and Health
2 g 3T T e - (aT) Torstedt 2t gferem Jem s
Determination of average income - (b) Provision of electricity facilities
3 graies f&d - (W) T TeIToT Jgor
Public welfare - (c) Environmental pollution
4 {orohTe ol G - (3) Ui AfE =

Indicator of development - (d) Per capita income

3dl- 1 (H), 2. () 3 (), 4 ()

Answer- 1 (c), 2. (d) 3 (b), 4 (a)

Afa o1y 3T w4 - (2 3F%R)

Very Short Answers Questions - (2 Marks)

TH-1. 3T o STHH folqwoT T T ST TLSAT & 2

Q. 1. What is the impact of unequal income distribution?

-2, T e X/ 31T R WA 82 36 fore o e § Rl T S 22

Q. 2. What do you understand by infant mortality rate? Why is it considered a goal of

development?

T%-3. Hehed BT 3cUTE T 379 w15y

Q. 3. Explain the meaning of Gross Domestic Product.
T%7-4 HTEAT 3L AT STl & 2

Q. 4. What does the literacy rate indicate?

TH-5. ITHIT 2 T BT 22

Q. 5. What is consumption expenditure?

-6 TN ST 3T T ST = & 2

Q. 6. Why do people want to increase their income?

15




[
A |
——— \\<' }

%7 forehT o QT Fehmreren qioT faRag 2

Q. 7. Write two positive outcomes of development.

w78, fRren foreft 1 3 forehmer o forw sri atTarversh @ 2

Q. 8. Why is education essential for a country's development?
Y I T (4 37eh)

Short Answers Questions - (4 Marks)

T 1. 3T A [T o T o ToTq I Eohaeh MR il ?

Q. 1. What indicators will you set for the development of your school?

T 2. Torelt &1 o forermr o 7T eI ot TTOHT © Ug i ohi9 © ETaiSTi-ieh T&d ohT € TaAT
1T 2

Q. 2. Before establishing industries for the development of a region, which public welfare

should be taken into consideration?

1 3. Torelt oft S Rt Srfelen forshmer s wro o foT fofset wiTreh Ererehi ahT SRITT fofiart SiTaT 22 =2
Fifer |

Q. 3. What are the index by which we can measure the economic development? Explain.

T 4. AfEer f3rem & foerr & fou 38 Sur™ s == 81 Hehd © 2

Q. 4. What can be the best measures for the development of women's education?

T 5. T AN ok TRt hT T8 SIgal 311 TH hGAT 8 22 Ffe T&1 a1 2

Q. 5. Is the goal of people's development only to achieve a better income? If not, why?
ST 6. ATeISI+eh GlTETaTt hi T SATewehd 8 2

Q. 6. What is the need for public facilities?

16
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sPHIs — 2 (UNIT-1)
I 7 — 92H faed gg
Chapter 7 — The First World War
Y 3T T (4 30ek) Short Answer Questions (4 marks)

-1 6 ol Hfer o, T el o wed g8 oft) 39 Eie o I 3d hi-ahi € off 2

Q. 1 When was the Treaty of Versailles signed and between which states? What were its

main terms?
-2 S fore g o S farfire aeit o Aigersil <At feafa & S1e srger & = e fafa 2

Q. 2 Write four effects of the changes in the status of women in various countries during
World War L.

-3 WoH e g o T AT T SdTsy ?

Q. 3 What were the four main causes of World War I?

TH-4 FGT T HIT W ST BT T T IS 9 2

Q. 4 What harm did Germany suffer due to the Treaty of Versailles?

-5, ToW forg g o SR Afent ot a3 GaT o fIg sRam-a e 33T¢ ST Hehd o 2

Q. 5. What measures could have been taken to improve the condition of soldiers during
World War 1?

- 6. TUW forg g o shig = aRome frfag ?

Q. 6 What was the impact of the first world war on the world?
Y7 1914 3. H W §C I8 1 T for 5 1 T SIM@n 8 2

Q. 7 Why is the war that started in 1914 A.D. called World War 1?
T4-8 ForH forg g H -1 T S Teheilehl shT ST forat TRIT?

Q. 8 What new technologies were used in World War 1?

17




AT 12 — HIRd ® Afqema &1 f<for
Chapter 12 — The Making of the Indian Constitution

e I T (6 3TR)
Long Answer Questions (6 marks)

-1 YRS Eferer ot s farward fafag 2

Q. 1 Write the main features of the Indian Constitution?

-2 | ST 3hT TR R AT ST 2

Q. 2 How did the process of making the constitution progress?
%73 N Tfem ot Sed i 82 THeET |

Q. 3 Why do we need a constitution? Explain.

T4, Gl 9T o1 713 fore ©HT dok SAierdifieh o ?

Q. 4. To what extent was the formation of the Constituent Assembly democratic?

TH-5. >R Tcel I~ FHTSIETET, GH{TET Tieh qoTcish TURTSY 8|’ SATEAT shifsy)

Q. 5. "India is a sovereign, socialist, secular, and democratic republic." Explain.

18




| Shis— 3 (UNIT-3)

!‘L AT 13 — GIIH IMEA FaeeaT 3R GHfoied aidR ol

Chapter 13 — The Constitution, Government System and their

Social Concerns

e I T (6 37TR)

Long Answer Questions (6 marks)

T 1. Falod =TI %1 ST T8 FHied| ol JUH hITSC |

Q. 1. Describe the powers and duties of the Supreme Court. 8
Yy i dee 3wt oi aife w at B &5

Q. 2 Describe the functions and powers of the Indian Parliament.

43 A ohT TS el TTHHT shl IMEh T 21 T8 hifsry)

Q. 3 "The President of India is not just a titular ruler now." Explain.

-4 GITUT §RT ~ATATTIToRT ! Soda of 15087 1 shi T sgarea shi 1 29 gHesy |

Q. 4 Explain the provisions made by the Constitution to keep the judiciary independent and

impartial.

f“'// -5, TR Aleha § TEHT Toh 3 1 §9 5 1 FHLAT 8] I8 FAM! A1 bl SR qEEIE T
‘2 o, 78 forer-femer erent & gffarer o e 22

Q. 5. The prime minister is the pivot around which Indian democracy revolves. What are
the methods that have been put in place to ensure that the prime minister does not

function in an authoritarian manner and do as he\she pleases.

19



Sl — 4 (UNIT -4)
AT 3 — By ﬁ

Chapter 3 — Agriculture

(TUE- 37) TS T
(Section-A) Objective Questions

-1 VR H Faleren 9 o fohe g § % d1S Sl @ -

Question-1 In which season are crops sown on most of the land in India?

(37) @l® (a) Kharif ﬁk X
(&) Tft (b) Rabi
(W) S Iq (c) Zaid
() G+l g § Tk A (d) Equally in all seasons
T%-2 T Y I T i FEA © 2
Question-2 Which of these is a Kharif crop?
(30) g (2) Wheat
CIEE (b) Chickpea
(®) QST (c) Melon
(@) a (d) Paddy
-3 $TH ¥ S A ol HE 81 © 2
Question-3 Which of these is not a pulse crop?
(37) =T (a) Chickpea
() =X (b) Pigeon pea P—T :
(W) ST (c) Millet (Bajra) wi_; |
(%) 78 (d) Lentil B

20



T-4 T % SIS H I TsT TAA S 2

/

Y. v Question-4 Which state is first in rice production? d
!‘ (37) ate shTe (a) West Bengal
(¥) BTG (b) Chhattisgarh
€3] AT (c¢) Uttar Pradesh
@) foer (d) Bihar
-5 HENTSS fohd weret oht @it shi forg wftrg 22
Question-5 Maharashtra is famous for the cultivation of which crop?
(3) g (a) Paddy EPVIIN
: CIERIL (b) Cotton #: -
CHETEN (c) Coffee
(8) S (d) Jute
-6 ¥ ol forart STt Y et & St 82
Question-6 What portion of India's population is associated with agricultural activities?
(37)1/3 |11 (a) 1/3 part
(s1) 2/3 91T (b) 2/3 part
Y (F)1/4 |11 (c) 1/4 part
g}/ (@) 1/5 9T (d) 1/5 part
i T-7 TR shifd & G® 311 BH g1 -
Question-7 The crop that benefited the most from the Green Revolution is -
(37) T (a) Wheat
() ST hT (b) Sorghum X
(@) ST (c) Millet (Bajra)
(3) g9 hT (d) Paddy M

21



(Tus-a) fw Tamt Y gid ik -

a1 (Section-B) Fill in the blanks: d

&

f..

O RSO R tc e | 1 IR 2l
The main food grain of the Rabi crop is .......cccccoueneee.
2 e VI 36T T | ET BT ScdTa He|
Due to the shortage of .........ccceeueeeee land, crop production will decrease.
3 B oo, T I T ST |
Chhattisgarh is called the bowl of ......................
4 IRATFHT ..o Wfr 1 foream g = 8
Expansion of ...........ccceeeeene. land is now not possible in India. )
: SPAN
_ 5 TG FEA e = H &l ol PypS
Zaid crop is harvested in............ season.

SR ,2FN ,39W, 4, 5™

™

L

Answers 1. Wheat, 2. Agriculture, 3. Paddy, 4. Agriculture, 5. Summer

(TUE- T) Sfra ey Jfeu -

(Section-C) Match the following:

1 R 37 sgaer shl SR

Base of the Indian economy

2 ol

Rabi crops
3 IAETHIME

Increase in production
4 S wHA

Zaid crops

34t 1 (¥), 2 (), 3 (), 4 ()

Answers: 1 (c), 2 (d), 3 (b), 4 (a)

22

(3) T, TS

(a) Cucumber, Watermelon
(<) Bt shifer

(b) Green Revolution

(®) Ff¥

(c) Agriculture

(@) T ST

(d) Wheat and Barley
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Ftf oTg 3T T4 - (2 3Fh)

Very Short Answers Questions - (2 Marks) d
T | TeTohd G Aok RIS o6 oI goTIoTd &1 Hehd €2

Q. 1: What can be the bad effects of excessive irrigation by tubewells?

T4 2 Y IeUTET ST oh ToTT - Toh STt Tkt 82

Q. 2: What can be done to increase agricultural production?

ST 3. ICATEH H g, 31 T SIS o T HAT, T T 82

Q. 3: Why is it necessary to compare the increase in production with the population?

T 4 T T TR ST ShT ScaTe BT 87

Q. 4: Which crops are produced during the summer? PN '?
T 5 3719k STTEUTH =TS o FRIT-3RIT 19 IITo9?

Q. 5: What are the irrigation resources available around you?

T 6 T ST g7 &1 § T AR &2

Q. 6: What is meant by sown area?

1% 7 TR 1 e T Sford Hod STH &1 Eeh 39k 17T T fohaT STHT =ITie?

Q. 7: What should be done to ensure farmers get a fair price for their crops?

g 3T O (5 3h)
Long Answer Questions (5 marks)
-1 HIS TSI o Scd1e § HHT B o SRIT hIoT 82 9

Q. 1: What are the reasons for the decrease in the production of coarse grains?

-2 | e H U TEd § SETe o T THTE US? 3T, Tareed, USHIR, AfH, 3ot &Hd
HTfe STl =l LA | T@d g FHAEY

Q. 2: What effects did the change in crop patterns have in Sankara village? Explain,

considering factors such as health, employment, soil, fertilizing capacity, etc.
TH-3. WA 1Y o T IcaTaehdT o HIROT ol [eRaT] Talah |

Q. 3: Write about the reasons for the low productivity of Indian agriculture.

TF-4, GO, T T TS FE] a1 foawor 3emer gigd A

Q. 4: Give description of Kharif, Rabi and Zaid crops with example.

23



y. \4,.
&

A 8 — <l fd%g <l = 4=
@) well Hify 3R "
Chapter 8 — Between the Two World Wars —
(A) The Russian Revolution and the Great Depression
(TUS- oY) TS T

(Section-A) Objective Questions

- 1. GrHTSTeR TR SR UsHifaer = sht AL forer shifd & ot 718 2.2

Q. 1. From which revolution is the concept of social, economic, and political justice derived?

(37) ST shifer () T shifer

(a) Japanese Revolution (b) American Revolution

() TAUE ot shifer (%) &9 T shifd

(c) English Revolution (d) Russian Revolution
T2 ST ShifeT BT AT i AT?

Q. 2 Who was the leader of the Russian Revolution?

(3) geferft () feeert

(a) Mussolini (b) Hitler

() A (@) SR e
(c) Lenin (d) Tsar Nicholas

-3 T o 0 S | SR O i e o e e o

Q. 3 Which of the following country was not a part of the former Soviet Union?

(3) ittt (=) sTfegar
(a) Georgia (b) Austria
(%) Tghet (3) &

(¢) Ukraine (d) Russia
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T9-4 *<Torg oh Tehe{ HSTgL* o1 AT fohdl Shifd & S[gT o ?

f..

!»j Q. 4 "United Workers of the world" the complete revolution was connected? d
(37) ShIETET shifcr () TR shifa
(a) French Revolution (b) American Revolution
(T) T shifd (T) ST shifd
(c) Russian Revolution (d) Japanese Revolution

-5 ISt 6T =rworT fore At off 2
Q. 5. Who announced the New Deal?

(37) forewm @) wifer & AINS

(a) Wilson (b) Stalin
(H). T (3) Tt
(c). Roosevelt (d) Attlee

-1 (]),2 (H),3 (d),4 (H),5 ¥

Answer - 1 (d), 2 (c), 3 (b), 4 (c), 5 (c)

(True-aT) fies Tt st afd hif -
(Section-B) Fill in the blanks:
1 S EHR B o o AT € T ST ST o |
ﬁv / Russian emperors were also known by the name of ........................ :
' 2, Shifd U=l Shifd & , ST GHTSIATE] AT 9T AT off|
................... revolution is the first revolution that was based on socialist ideals.
3 ThRf &S 1933 T oo, EARUERINREE
Franklin Roosevelt became the president of ........................... in 1933
4 TEEGEEH oo, T SIS 2T | B
In the Russian parliament, ..............cccceeennees was dominant. )
5 QI o Y 6 TG FH BT IR oo T | "

After Lenin's death, the ruler of Russia became ................ccoeeunnnnnnn. .
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IW- 1 IR, 2 ®ET, 3 AT, 4 i 9, 5 werfed

Answer- 1 Tsar, 2 Russian, 3 America, 4 Aristocracy, 5 Stalin

(@vE- ¥) e dater feu -

(Section-C) Match the following:

1 oref grEar (W% ) - (37) & ° gIETg
Semi-slavery (serfdom) - (a) Socialism in Russia
2 o Ieated - (@) fopamaT Y ST TuTe
Boris Yeltsin - (b) End of peasants' slavery
3 37ifes Tl ot HHY - ) &1
Time of economic recession - (c) Russia
4 ST ENOr - (@) T foram
Zar Declaration - (d) Russian peasant
5 ITFRZSCSHIN - (3) ¥ 1929 ¥ 1934 T

October Revolution -

(e) From 1929 to 1934

SW-1, (%), 2 ({) .3 (®) ,3 (), 4 ()

Answers- 1, (d), 2 (c), 3 (e), 3 (b), 4 (a)

AT oY 3T W4T - (2 3%R)

Very Short Answer Questions - (2 marks)

T 1. T SR o &1 THE LT T 3o hiToy|

Q. 1. Mention the two main objectives of the Russian revolutionaries.
T 2. 1917 T &1 hifd st &t gieom fafag)

Q. 2. Write two outcomes of the Russian Revolution of 1917.

I 3. Gifad 3T @9 § AT T 377 L Gohd @ ?

Q. 3. What differences can you identify between the Soviet and the Parliament?

T 4. 6 1861 T STEITET HHIH i TR A § fohdl AT ag=m?

Q. 4. Who actually benefited from the abolition of semi-slavery in 18617
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T 5. TTCATH S LTI T S0 H T GHHAAT ST S o 2

Q. 5. In what way is the condition of slaves and serfs similar and different? d
e I U (5 3R)

Long Answer Questions (5 marks)

T 1. T T ShiTTeRRT ST 6 TG HaH FIT-1 8 2

Q. 1. What were the main steps taken by the revolutionary Government of Russia after the

revolution.
7 2. STHRERT H TR Hehe A I forg ohi ok SwTlerd ot 2
Q. 2. How did the crisis in America affect the entire world?

T 3. T H 1861 8 1940 o oft=r foremi 1 feerfar § s aftads o1 2 &2¥

Q. 3. What were the main changes in the condition of the Russian Peasants between 1861

and 19407
T 4. T SR o T Iexd -1 o 2
Q. 4. What were the main objectives of the Russian revolutionaries?

T 5. T YT ] Shife o fohegl uTer ITa shl THTE shifsre 2

Q. 5. Review any five effects of the Russian Revolution on Russia?
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_‘ Shis— 4 (UNIT -4)
- AT 18 YT UG AT %db

Chapter 18 — Money and Credit
(TUS- oY) T8 T
(Section-A) Objective Questions
1. TR o e e e -

Your money remains safe in -

(37) gfore o | (a) Police station LIV
: () S & 918 (b) With the trader Jb—

() S & T (¢) With the bank

@) R I (d) At home

2. T TANT § foREeh! AT g2 -

Who benefited from the use of currency (money)?

(37) SUTIRRIST ST (a) Consumers

(<) ScqTEehT T (b) Producers
/%/2 () STHTBTAT, JcaTeeh! ST ol (c) For both consumers and producers
g/ (3) 3T T g TN (d) None of the above

3. T W(ATM)FHTIF R -

The meaning of ATM is -

(3) TEferd Ser 7 (a) Automated Teller Machine

(&) TEferd iRt wRiA (b) Automated Talking Machine PHT :
() TATTeAd fohtT A (c) Automated Tanking Machine , wl‘!
(3) WA e HRfA (d) Automated Trial Machine
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4. 379 IR 9T foRET el Sish § SROT T 272

!»j Usually, when does a farmer take a loan from the bank? d
(37) BHA o g o T (a) At the time of crop harvest
() HEA h Tgr?ﬂ'l‘s‘ B0 (b) At the time of sowing the crop
€3)) %O o forshl o oo (c) At the time of selling the crop
@) T | hIg el (d) None of the above

5. S e g TR S e & T A 2 -

Detailed information about banks is obtained from which of these?

(37) IR &2 (a) State Bank of India RPN
| | 4=

CIREIE] EMEEED (b) Punjab National Bank

(@) R e 5 (c) Reserve Bank of India

©) Zlfl'qq EES (d) Union Bank

6.  GEANTT @ H i A2 -

Not included in institutional sources is -

~,

(37) Sk (a) Bank

() ST (b) Trader
_ (¥ Tkt |t (c) Cooperative society
g” ' (3) 3T Tft (d) All of the above

Id-1 ), 2(#),3(3H), 4 ),5(F), 6(d)
Answer- 1 (c), 2 (¢), 3 (a), 4 (b), 5 (c), 6 (b)

(True-aT) fies Tt st afd it -

(Section-B) Fill in the blanks:

.
g
]
%

The headquarters of the Reserve Bank of India is located in .........ccccecuenee. .

..................... T - o1 T ST AT HIEH g

..................... is the medium that facilitates our transactions.

N
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3 FEH e, @rd § 47T Shl 2T gl 2

The interest rate is lower in the bank's ...........c..cc..c..... account.
4 FOTH e, i ffaa Bt 2
Loan have a fixed ........ccccceveenn. rate
5 THERFTATE W oo ° TEATER Bl ¢
The ten rupee note has the .........c.ccevveeiieeiinennnn. signature.

W - 1. qFS, 2. 93, 3. 91 4. SIS, 5. Fstel ofe Tt
Answer - 1. Mumbai, 2. Currency, 3. Current 4. Interest, 5. Reserve Bank Governor

(@Us- ®) 3fa dater AU -
(Section-C) Match the following:

1 3TN o fag st (37) AT S
Loans for industries (a) Commercial Bank
2 o S T Tt () SRl |
Determination of interest rates (b) In banks
3 URAT WISk (@) bt &
State Bank of India (c) From banks
4 o hl e OLSEEER]
Safety of money (d) From Reserve Bank

IW.1.9,29,33H,49
Answer: 1.s,2d,3a,4b

AT oY 3T 94 - (2 37%F)

Very Short Answers Questions - (2 marks)

TH-1 Fohg e WU foret werm o ST weheft 22

Q. 1 How can cashless purchase done?

552 ST @A T TARA ST (Th- €1 | 7 37l 22

Q. 2 What is the difference between a savings account and a fixed deposit (FD)?

T51-3 =ik T T 82
Q. 3 What is a cheque?
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-4 O T T = A1 T §HT?

Q. 4 Why was the circulation of paper currency started? d
-5 e 1S AT 2

Q. 5 What is a credit card?

el 3T O (5 30h)

Long Answer Questions (5 marks)

-1 0T 6T GFrel U AR GHRT 3T G H HETeh eiell @, el qHll 3T i oh STTet T ot
2, HU? ATFIH o ISR & THTIY)

Q. 1 While the facility of a loan helps in increasing our income on one hand, it traps us in PPN

¥
the web of debt on the other. How? Explain with nearby examples. J .
-2 HET o W= T AT T&q T U fevquft iy
Q. 2 Write a comment on the ancient and modern forms of currency.

-3 HET % @ F AR (s )

Q. 3 List the main functions of currency (any five).

-4 SFHL HHITd @l Uel SATIR 3 foAT €T shi SATGehd] Ted! &, IS0 died 9T |

Q. 4 For personal expenditure and trade do we need credit? Give examples and explain it.

-5 ok H STHT &9 i 5T /I o 9T AT & ? 9

Q. 5 On what basis are deposited amounts in banks considered as currency?
116 oo oieh 3 sjforent & Sl oL e fewaoft e
Q. 6 Write a brief comment on the role and functions of the Reserve Bank.

-7 FT 0T & ToF S 5 oiar] oY bt o o fore o e 81 22

Q. 7 What is the reason that banks are not willing to lend to some borrowers? —-— i“"
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gPIS — 5 (UNIT - 5)
@ AT 4 — o G9reA 3R e fiavor :&i

Chapter 4 — Mineral Resources & Industrialization

(TUS- 37) TEHE T
(Section-A) Objective Questions
1. Ui & oeeh B

(37) Bt () IR
(@) e (=) Tz 4>
The ore of aluminum is:
(a) Manganese (b) Chromium
(c) Tungsten (d) Bauxite

2. o] Efe o fore g # -

COESIE (<) STFTEE
() F (3) TS
Famous for atomic mineral:

%( (a) Granite (b) Bauxite
(¢) Uranium (d) Chromite

3. YA ol Yo FST STRETEE IcT1Eh TST hIT AT ?

(37) g () forem

(V) FeTseT () BHETE 2931

Which is the largest bauxite producing state of India? .l \; !

(a) Odisha (b) Bihar |
- (c) Madhya Pradesh (d) Chhattisgarh
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4. zeurq fAmtor 6 fe forftaa o o fore sheer OTet sht ger@ i) |1 § STTa9ehdT gt 22

(37) SITeRTEE (30) e ol
() =T GRIEE

Which raw material is needed in the largest quantity for steel production among the

following?

(a) Bauxite (b) Coal

(c) Lime (d) Potash

5. 9Ra H 37+t galfires I 3dTes Us9 29
(37) ST CIRIEEEUIH SPVN
(@) A (3) IATEIE

Which is the highest coal producing state in India currently?

(a) Chhattisgarh (b) West Bengal

() Kerala (d) Uttarakhand
6. ST RIThICS A o fohe T5T § R 8 2

(31) ufgm s () e eTe

@) foer (3) FRETS

In which state of India is the Korba coalfield located?
(a) West Bengal (b) Chhattisgarh
(c) Bihar (d) Jharkhand

SW-1(3),2(),3(3),4(F),5(3),6()

Answers- 1 (d), 2 (¢), 3 (a), 4 (b), 5 (a), 6 (b)

oY I T - (4 3iR)

Short Answers Questions - (4 marks)

1 ST & - AT © 2

What are the benefits of industrialization?
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I U - o THEATd Ieq=T ardt 21 farawor s 2

What problems arise from mining? Explain?

Tenfirer srafkufa s TaTferd s It heRT T JUI hifsTg)

Describe the factors affecting industrial location.

IR H L SR T AT &, HoTct F (o] HFA T 1 T8 1| FHeh FoTe T foham ST
T &7

Mining should benefit the entire population, not just a few private companies. What
can be done for this?
RN A 75 ST il § q&a: TiH-hiT ©l A TS 82

What are the main policies adopted by the government in the new industrial policy?

AT | €I 1 oh AT Issaol & il 2

Why is the future of solar energy bright in India?
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LA™ — 9 <l faza ggf & g o0 A
& reflare 3R v faza gg ﬁ
Chapter 9 — Between the Two World Wars - Nazism
in Germany and World War-I1
(TUS- 37) THRHE T
(Section-A) Objective Questions

1. 37 9 formeht SeetTa ST @ g3 off 2

Which of these originated from Germany? P Vi *-q
) I (37) TFIATE (a) Naxalism jb

() TS (b) Maoism

CHEISIEIE (c) Nazism

(3) BrEtaTE (d) Fascism

2. Tedita forg I o1 ATeehTicTeh SO o -
What was the immediate cause of the Second World War?

(3T) STTRZAT T AlelAT T AATHAT () Austria's attack on Serbia

() STHT T IIIUE U SATSHHIT (b) Germany's attack on Poland
%/‘/ (9) ST T It BTE IX SATSHAV] (c) Japan's attack on Pearl Harbor
(T) STt BT &9 U SATHAUT (d) Germany's attack on Russia

3. ugfei s fag 1948 Hmam A e g AR R -

The country which was established in 1948 for the Jews 1is -

(37) ST () Japan i
() (b) France ;[ \: '
(@) Ifezan (c) Austria

(%) TSIEA (d) Israel
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4,  fETgHHE-HEA Y2

Which countries were among the Allies?

(37) ST, geet, STae (a) Germany, Italy, Japan
€)) ST, geet, forem (b) Germany, Italy, Britain
() ST, STa, i (c) Germany, Japan, France
(). oo, i, &1 (d) Britain, France, Russia

5. ST o Tsgl o e md T e R 2

When did Germany surrender to the Allies?

(39). 7S 1945 (a) May 1945
() ST - 1943 (b) June - 1943
(H) 3TEd 1947 (c) August 1947
(3) S 1912 (d) January 1912

I Answers: 1 (@) - 1 (c), 2 @) -2 (b), 3 () -3 (d), 4 () - 4 (d), 5 (31) - 5 (a)

(@rus-a) Teeh Tt <t g Hifrg -
(Section-B) Fill in the blanks:
O 11 EEARIEERR
Mussolini was the ruler of .................. country
2 OYRh TS T TATIAT T oo ]
The United Nations was established in the year ..................
3 STHAT T H s X fhreteRt gt g hEeTr|
Germany, Italy, and ................... are together called Axis nations.
4 HEER e, TS ST STEAT o T o |
Fascists supported the .................... party system.
5 oo oA TR I Heardr o

Hitler's secret police was called ..................
I 1. 32, 2. 24 A 1945, 3. M, 4. T, 5. T

Answer- 1. Italy, 2. 24 October 1945, 3. Japan, 4. One, 5. Gestapo
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(wTE- ) ST e A -

(Section-C) Match the following:

1

fcftr fora 5

Second World War

ST 3T TS

Germany's defeat

ERSEIE

Racism

foefter forg 7 % o

Reason for Second World War
ST 3T STTH FHYT

Japan's surrender

SH-1(#),2(3),3(9, 4(30),5()

Answer- 1 (c), 2 (¢), 3 (d), 4 (a), 5 (b)
fa o1y I 94 - (2 3Fh)

Very Short Answers Questions - (2 marks)

T TTg HeT oY T 3 R &1 Seed oty

Write any two objectives of establishing the United Nations.

BIEaTE Te ATS(aTE Sl ahig & FHMHA [Tau)

Write any two similarities between Fascism and Nazism.

1

(37) STHHT o HeEcarshiedT o 0T
(a) Due to Germany's ambitions
@) Tl forg 7 i wenfar

(b) End of Second World War
(F) T 1939 T 1945 T

(c) From 1939 to 1945

(3) Ree T o

(d) Due to Hitler

(3) fomr Tegi ot T

(e) Due to the unity of Allied nations

GHIETET T TATohds Shl SIS RIT THT ITed 97

What did the fascist parties want to replace democracy?

R faeftar for g o Sl sfta st ?ﬁgﬁeu T SR T THIT Ted1?

If Germany had won World War II, what impact would it have had on the world?

SITaT 7 forer aftfufa & streremdor fomam 2

Under what circumstances did Japan surrender?

seaTe ST STfrsgane | 319 T %eh oad 82

What differences do you see between nationalism and Extreme Nationalism?
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7 TR SHHT TS o e o foTe it 3k o 2
] Why was Hitler eager to expand the German state?
8  TREATSHI o Wi RiEaTIqaT oh1 T T ot 2
What was the view of fascists about women?
Y I I - (4 37eh)
Short Answer Questions (4 marks)

1 Arsfiarfedt 5 S o qut i ST s o T shiH-shi | qlieh SToTY 2
What methods did the Nazis adopt to gain complete control over the people?
2 gl W HEITeAHT % 3Ry o TR R fIRa 2
Write four reasons for Mussolini's rise in Italy?

3 T it fadw fif fadfr for 305 1 T o (wm ifSTm))

"The foreign policy of Hitler was the cause of the Second World War." Explain.

4 et forg g o AUl TROTHT 3T Ui hIfSTT 2

Describe the important consequences of the Second World War.

5 FEATE 3T Alhdi=Ih ISRATE H FAT-FIT =l & ?

What are the differences between Fascism and Democratic Liberalization?

™
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S®Hls — 6 (UNIT -6)
AT 5 — HIHd I9reH

Chapter 5 - Human Resources

oY I T - (3 3HR)
Short Answer Questions (3 marks)
TH-1. SHEEAT o e TN foTT ohd STarft & 2

Q. 1. How are population figures useful for us?

-2 T ST o Gt fSTeTl H Afgcredl ot Sedr e 99 §, 3R T8 & 1 369 4T 0T 81
Gohd &7

Q. 2. Is the literacy rate of women equal in all districts of Chhattisgarh, If not, so then what

can be the reasons?
w19-3 foreft a1 F o | S oX R g 2

Q. 3. What will happen if the sex ratio decreases in a country?

T -4 SFIIOMT H Shi9-ohI9 O 3Tehe ITH BId & 2
Q. 4. What data are obtained in census?
T-5 T 3Tk SHEEAT TR a1 hRT = 2 Ife Ti al »d 2 fafay

Q. 5. Is over population the reason for poverty? If not, then how to write?

TH-6 U § SHIUMT o 3faerd 0 S@ferg o forftay |

Q. 6. Write a short article on the history of the census in India.
Y I T - (4 37h)
Short Answer Questions (4 marks)

1 R H e 3 o H HISeTl ol HTaRdT 7 o) 36 &1 HI0T & 2
In India, the literacy rate of women is less than that of men. What are the reasons
for this?

2 <uRd U SR a3 8, ek et e 21¢« s i |
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"India is a prosperous country, but its inhabitants are poor." Describe.

ITHYOT F T SIHEEAT H AT Sd18Y)

Differentiate between rural and urban population.

SHEEAT fIehie aTst o ot =1ae & e 2 9Hesy)
How is population explosion fatal for the society? explain.

R o STEEAT Al o T ToRINaTa 1 qui shiferg

Describe the main features of India's population policy.

et g SEeE & Qo o e § araes 8 2 T 31 39 U § Wehd © 2 R
liglicd

Is the increasing population is the obstacle in the way of whole world? Do you

Ve
agree with this statement? Write the reasons. #"
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& RTofdd GXATT Bl SrRIYITC! el
Chapter 14 - Democracy in Independent India and
the Working of Political Institutions

oY I T - (3 3iR)

Short Answer Questions (3 marks)

T4-1 2. e SRt 5 Himved ¥ @ 9 4 fqar?

Q. 1: Why did Dr. Bhimrao Ambedkar resign from the cabinet? *"__ *
4 -2 T AT IS ol f @ A ffan

Q. 2: Write three key points about the first general elections.
T3 WTHT AT FaRT TS o6 FT-HT HehIIceh TS g7

Q. 3: What are the positive effects of language-based state formation?

-4 ATSHTEE, foIehTH o SHRUT GLeRR hl ATohd | g1, dl g off?
Q. 4: How was the power of the government increased due to planned development?

-5 TEAT ST TS ST o AT 8 fohd] e § 7T 21?2

A

Q. 5: How was the first general election different from today's elections?

T4-6 STHIGRT TAT Y GHITY FET doh ATHer=h &1

Q. 6: To what extent was the abolition of the zamindari system beneficial?

T4-7 T 1S Toret ST-Je G oh hH-shIF § ST a1 82

Q. 7: What opportunities does the Hindu Code Bill provide for gender equality?
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Y I T - (4 37eh)
Short Answer Questions (4 marks) d

T9- 1 wforer FHior, Sasr TTaH, AT SR o foaer Hifd o SArEm o e s qfHen 9
RREERS RIS

Q. 1: Explain the role and contributions of the Prime Minister in constitution making, state

reorganization, planning commission, and foreign policy.

-2 TEAT STH AT L o T T T TE TS AT ST $HHT e HITT|

Q. 2: The government had to work very hard to conduct the first general election's mention
it.

-3 YRATE TSI H 1967 6 SI1e shl T ST fcieh STl W FhIRT Sy PV
Q. 3: Throw light on the major political events in Indian politics after 1967.
ST -4 T o SR 9T & TexT TS F fohaT TTar? ST ey

Q. 4: Why was state reorganization on the basis of language? Write reasons.

-5 TS TS STTANT hT I FAT AT? F8hT T FHOBTRRT 77 off?

Q. 5: What was the work of the State Reorganization Commission? What was its main

recommendations?

T 6 FAT HATIh! THIAT & foh TSATel TR 8| H ST AT GU o halcl FHiUE hl SHTE &1 gl
T G S o 3270 § AT IO i 3= 19 3edli § gan? fafay)

Q. 6: The moments which took place in Punjab and Assam were done with the aim of making
regional government in place of Congress? Were there any other broad aims behind
them?
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S®Is 7 (UNIT-7)

4 AT 20 — @Tel GReEf o
Chapter 20 - Food Security
(TIUE- 1) TEqHS T
(Section-A) Objective Questions
1.  UH. © A% (F.C.1) T Haas
Meaning of F.C.I. — .
7 (37) 9d a @ fareeft e (a) Foreign collaboration with India {‘- S
() T @er foemy (b) Food Corporation of India
(@) IR S (¢) Indian Fossil Corporation
() IR Sfie sftar (d) Life Insurance Corporation of India
2. U W G SARIEH el ] fehe T o
When was the National Food Security Act implemented?
(31) 2004 & (a) In 2004
R /-2 () 2010 H (b) In 2010
’ S (d) 2013 (c) In 2013
N () 2016 % (d)Tn 2016

3. HegrE viSH A fearSmar g -

What is provided in the mid-day meal?

(CORICIRE (a) Dry ration

(%) ¥-%d (b) Milk-Fruits 'J. 1{; 0
(¥0) = TUTerel I N¥ SR (c) Nutritious food with high quality L
(@) A INERISE (d) Leftover food
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—— Answers- 1 (b), 2. (c) 3 (¢), 4 (d), 5(d), 6 (d)
(@ve-) fi Tt B R IR -
(Section-B) Fill in the blanks:
1 o SATET HUI & T T oo 1 ¥ B 2
The highest malnutrition are found in .........c.cccceeneen. people
2 FELERE oo T HUE 8
Buffer stock is the collection of ...........cccccevieeinns .
3 S Y 6HIE dH o Sodl hl SRR oh & H BT oo, AT AR |
Infants from birth to 6 months only ................. should be given to children as food.

Qe et 1 37 BT g -

What does food security mean?

(37) WIS I IucTeear (a) Availability of food

(N @t el st qg?f (b) Access to food items

(H) dNR T ohH oL Sl TR (c) Power of purchasing in market
(3) IHIE Gt | (d) All of the above

BMI 3T 9T 719 &

The full form of BMI is -
(37) Body measurement () Index Body Measurement indicator

(9) body mass indicator (%) body Mass index

90 ST e W forehre o 30 o STl o1 &1 <ol BT & -

90% mental development takes place of which age children?

(31) 2o (a) 2 years
(&) 3 (b) 3 years
(@) 4 a4 (c) 4 years
@) 5 (d) 5 years

ST-1(),2. ()3 #),43@),5@3),6(3)
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4 . . " T I THER B TR TG oo el T GraT— 39aTed

h{ AT ST |

Under the P.D.S, programme every month the family gets food at .............. rate. d
5 STOTTCHT el FRaT 3h 3TE ¥ STTawas 2

The .ccovveiene. system is essential from the perspective of food security
6 TH G I B o, @ ot Ed 2

An invisible hunger is also called .............ccoccune... hunger.

SO 1. T, 2. IS, 3. 61 1 g4, 4. Frreh, 5. wrelstieh feraeor qorrett, 6. defenref v

Answer- 1. Poor, 2. Food, 3. Mother's milk, 4. Concessional 5. Public distribution system,

6. Long time hunger. & AINS

(@vE- 7)) stua dater feu -

(Section-C) Match the following:

e,
1<

Ay |
——— \\<' }

1 SR (37) T qhg # T
Buffer stock (a) Helpful in price increase
2 ITgwENE (&) @I farawor
Bhattashya hunger (b) Food distribution
3 3T R @I (@) IR ST
Dry part of the food (c) Physical weakness
4 Sterd g i ghH (%) T ISR
Fair price shop (d) Food storage
5 ST WY, FTETSH () AT S
Hoarding, Black marketing (e) Coarse grain

JW1.9,2#H),3(%),4(d),5(3) Answers: 1. (d), 2 (c),3 (e),4(b),5(a)

fa o1y I 94 - (2 3Fh)
Very Short Answers Questions - (2 marks)

-1 - S § AT @ STERET § Sf4e TTferd 81 Tk o

Q. 1: Which people are most affected by food insecurity?
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-2 FAqH THI e FT R 2

Q. 2: What do you mean by minimum support price?

T-3. A H -3 | T @ ST § T 76 @ 2

Q. 3: Which states in India are more affected by food insecurity?
-4 HEATR HISH o1 T AT AT S 2

Q. 4: What are the benefits of the mid-day meal?

-5 S A @ § TTEe W HIT- FT IWE 7818 2

Q. 5: What are the effects of prolonged hunger on health?

-6 WA o fTT SR . Ui it a6 ar & 2

Q. 6: Who are the people who depend totally on the market for their food?

T4-7 I 9 shl GohTHT ohT T HEed € 2

Q. 7: What is the importance of fair price shops?

-8 T G ! TRTia hifsry

Q. 8: Define food security.

ﬂ'gﬁ'ﬂ'ﬂﬂﬂ - (3 3f®) Short Answer Questions (3 marks)

-1 SThTe I 9@ SR &Y shiefi § 3= T8 IS |18 o)

Q. 1: Clarify the difference between famine-induced hunger and prolonged hunger. (Any three)

T4-2 TRIeT ST @RI WX H e 31 SRt 2
Q. 2: Why does the poor class spend less on food grains?
T3 Gfeld HTEN hl STl A1 82 ek oI BT fIfag 2

Q. 3: Why is a balanced diet necessary? Write its three reasons.

-4 "HId | AN hT Teh ot 37 HY Wrer=T 4 sifwid ®", S shifsa?

Q. 4: "A section of people in India is still deprived of food grains"; explain.

T4-5 TIE & gchHi o HITA | T GHEd @ 9

Q. 5: What are the issues in the operation of ration shops?
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I 10 — SUFQET &I @ 3R Wagg
Chapter 10 - End of Colonialism and the Cold War ﬁ

(TUS- 37) TEHE T
(Section-A) Objective Questions

1. Iuf-as sht gty 3 fofe streawaes © -

It is necessary for the end of colonies:

() ST TTaHT (a) Nationalist sentiment

&) SEFFHT (b) Weakness — S
(H) 3ardr (c) Generosity

©) ﬁ@?’lﬁT (d) Autocracy

Which country is known as the country of islands?

(37) TfRrn (a) Asia
(S) (b) India
@) = (c) China
(%) SIS (d) Indonesia
3. MdgsR-
Cold War is:
(3) ST TG (a) Face-to-face war
(&) TR I (b) Guerrilla war 53
(W) e <Ay Feorfer (c) A state of tension :l\' !
(3) 3 g o I (d) War in winter season N

a7
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T et STTater sht U= F9 | T g%

The Non-Aligned Movement was formally established in: d
(37) 1951 1 (a) 1951

(@) 1961 & (b) 1961

() 19551 (c) 1955

(@) 19657 (d) 1965

ST o T & ST e sreT w E -

From a population perspective, the largest country in Africa is:

(3) foramsl (a) Zimbabwe vf—._ «
() ST (b) Algeria

GIRISIE=IED (c) Mozambique

©) EIESIe) (d) Nigeria

feg- g AT AR -

Which countries come under the Indo-China region?

(37) =i, o, aretia (a) China, Vietnam, Laos

@) fe=g , =fl, oy, @memar (b) India, China, Vietnam, Laos

() ¥l e, forraam, areny (c) Cambodia, Vietnam, Laos
(%) =, Fraten, foraam™, aEeive (d) China, Cambodia, Vietnam, Thailand
M g | foht a1 aunt off=r arer o

Which two countries had tension during the Cold War?

(37) Tferrd €9 o ST (a) Soviet Union and Germany

() TR F Aiferd g9 (b) USA and Soviet Union .-
() STHIGRT T HiF (¢) USA and France m
EEEELLIE] (d) Britain and Japan
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W1 (3), 2 (3), 3 (®), 4 (@), 5@),6@),7 @)

] Answers: 1 (a), 2 (d), 3 (¢), 4 (b), 5(d), 6 (c), 7 (b) d
(Erue-a) fies Tt i afd IR - (Section-B) Fill in the blanks:
I IRICAEIC L KL B AH AT |
The first Non-Aligned Summit took place in ................. country
2 ATESHiET o TegaTet ST Tem WA Of
Nigeria's nationalist and first president was .......................
3 ufrosft smeR B FEd 8
The end of colonial rule is referred to as .........ccoeeueeneee.
4 fIFa™ o ShifdeRil JaT 3T TYH WU ..., Of PN
The revolutionary leader and first president of Vietnam was .................. . J o
5 SSHITT T ST WO L <31 o foreg ol
Indonesia's independence struggle was against the .................. country.

IW- 1. SIS (FEATT), 2 FHTE ASfeh, 3 forufrerfisntor, 4 g1 =h firg 5. gretve (fietete)

Answer- 1.Belgrade (Yugoslavia), 2. Namadi Azkiv, 3. Decolonization, 4. Ho Chi Minh

5. Holland (Netherlands)

(TUE- ) 3T Haier AT - (Section-C) Match the following:

_ 1 ogr3Thiehl auT (31) srafepT ud wiferra d@
i; / Large African country (a) America and Soviet Union
i 2 ofifw Jeafem (&) T 1991
Boris Yeltsin (b) Year 1991
3 A fas (@) TS
Ho Chi Minh (c) Nigeria
4 siagg Hremy (@) Ferreremar 3 siferaRrt am <320
End of the Cold War (d) Revolutionary leader of Vietnam
5 Ags (3) & b\ |
Cold War (e) Russia
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SA-1#F23@®)3(@)4(F)S5(HA) Answers-1(c)2(e)3(d)4(b) 5 (a)

, fa o1y 3w 94 - (2 3FR) d

&

Very Short Answer Questions (2 marks)

1 fiq g & 19 T e 87
What do you mean by the Cold War?
2 xfta g for a1 el o fter g
In which two groups the cold war was held?
3 STESET <=1 AT S HH FIAT?
How Nigeria's birth took place?
4 R TSR TR | T o ot ffireRt weceui off? & e
Which class played an important role in the Indian National Movement? ;" E
5 HIHTST 918 FT 82
What is imperialism?
6 fore mre & ¥t g T Ty & e
Which event ended the Cold War?
Eﬂ'ﬁ'ﬁ'ﬂ'ﬁ%l‘ - (3 3h) Short Answer Questions (3 marks)
1 T SUMHAT TR TG Q7 o STl TR 3Tl aHl?
What would be the differences between a colony and an independent country?
2 SSMIRET ol T H ST ht T SfHeRT o2 9
What was Japan's role in Indonesia's independence?
3 e % TadEdT TRl H W T T T Hecd o1
What was the significance of land reforms in Vietnam's independence movement?
4 fodt o 3 o e forg Tremftfer o e wfada g2
What changes took place in world politics after the Second World War?
5 3fid g5 W AT IAT AT T ffHeRT off? _ g
What was the role of nuclear weapons in the Cold War? :
6 SHM H 3TT I 5 o T THE W &7 '.

What effects of the Cold War do you observe in the present?
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W SPhlg 8 (UNIT - 8)

J_m:,;: - - - d

< FeAT 11 — 20dT G F GAR AreAq [::&5
Chapter 11 - Mass Media in the 20™ Century

(TUS- 37) TEHE T
(Section-A) Objective Questions

1. el o 2d U fohehe 81 %l ohed ©,

A cricket match watched on television is called,

7 () Hrem JEmeT (a) Direct broadcast {" >
() TE TER (b) Indirect broadcast
() STETET SEmor (c) Preview broadcast
(%) TATS T (d) Aerial broadcast

2. Toife S ot IR H FoRreh ST Sl Wet ST oRalT 1T 9T -
By whom was the printing press introduced in India?

(37) 32 Sfear et o Srfereprd (a) Officer of the East India Company

_ /2 (<) WA Gemeh (b) Indian reformer
(%Z(? J ) WW (c) Portuguese missionary
N (3) et AT (d) Arab trader
3. IO AT Ao B el [aehied g3 ?

Where was the printing technique first developed?

(37) R (a) India <95}
(@) == (b) China i\'\; i
(T) | (c) France |
(@) IAT (d) Europe

51



~,

B \.

L

\\

YA h! Gord] <] GHR TS 2

Name of India's largest news agency:

ORI IH (a) P.T.I
(<) it STt (b) B.B.C
(|) I W33 (¢) U ER-I
GELED (d) 1B

AR AT o fohTe o T hid | 3Rt o 8 W 82

Which distances are reducing due to the development of communication mediums?

(1) UfcreTieen (a) Historical
(@) sfiifersh (b) Geographical
©EEIEES (c) Scientific

(&) TSR (d) Political

HTY ek ST 2t sheT fehereh o =2 i SIT Fehe:

Modern life cannot be imagined without:

(37) 3= @H-IH h (a) Of good food

) Wﬂﬁ% éST‘H;ﬂT * (b) Of modern attire

() I YT & (¢) Of grand buildings

() TR TS S =R 3| (d) Communication and mass communication

AT JEROT T ST A forgreamdt ST 5 hrehl e © -

Make Tele-communication Fast and Universal, it plays important role:

CORICIES (a) Mobile
() Awe (b) Laptop
(%) STrE (c) Satellite
(3) (d) Computer
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AR ohl TIH GTHTEeh TRt & -

India's first weekly magazine is:

(37) TI9Rd 215+ (a) Navbharat Times
(@) fawafifen (b) Digdarshika

€)) Fa (c) Kesari

(3) TT3FT AT gfogaT (d) Times of India
0T 3 TR T © -

The fundamental methods of transmission are:

(3) EISEl (a) Speaking

(¥T) MR hAT (b) Gesturing
CAEEEEIE] (c) Drawing pictures
() 39 |+t (d) All of the above

FH-1(3) 2 (F) 3 (@) 4 (35 @) 6(3) 7 (@) 8 @9 @)

Answers-1(a)2 (c)3(b)4(a)5(c)6(d) 7 (c) 8 (c) 9 (d)

(Tus-a) ek TTAT T gid T (Section-B) Fill in the blanks:

1

AT hl Ut {hed STaT HTEs Hiceoh o SHTS (TR AT ..o o

India's first film was made by Dada Saheb Phalke, and its name was

n "

et HIET iAokt iR ST STRETR h AFITEH ... S

The first Persian magazine "Mirat Dal Akhbar" was edited by
Tl forg g ot are SR s A Aol ..o off

After World War II, there was a new technology in communication called

foMT AR o STEHE § WIS A o WiEEH ¥ How S e U Sl HH

It works to transmit messages and sound through waves in the sky without wires,

using
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L35 TR o aITg T fSife Se o1 sy el

Colour printing press was invented after

IW- 1. TSI BREr=e, 2. TSI U9 Jigd T, 3. SoAlfasi , 4. ISar, 5. 1837

Answer- 1. Raja Harishchand, 2. Raja Ram Mohan Roy, 3. Television, 4. Radio, 5. Colourful

(@vE- 7)) e dater feu -

(Section-C) Match the following:

1 fefea wifa (37) UTEY oA
Digital Revolution (a) Graham Bell
2 e Afaspran () Tt o Hror PO
Inventor of Radio (b) Due to Television #: o
3wt (W) FTHHT
Cinema (c) Marconi
4 AR TSR (&) FFIX
Inventor of Telephone (d) Computer
5 Sftad At w e g (3) Y sy

SR-13),2@3)3(®4()5F)

Profound Impact on Lifestyle

e 3T T (6 3TR)

Long Answer Questions (6 marks)

TR o Y@ HTEHT T T8 HIfT)

1

Answer- 1 (d), 2 (c) 3 (e) 4 (a) 5 (b)

(e) Lumia Brothers

Explain the major means of communication.

2 s wrew SR A o TR0 H ST 1 AT S 3R <6 57 foraw are faem
I o o foTe 31feres EWTaT 8 31X STTaR! Sl |1 HTeRm SAfere ST e 82
What similarities and differences do you see between printed media and TV
transmission? Which one has more potential for thought and contemplation and
which medium do you find more impactful?

3 3Tyl A Hifea & fomoet i 7 sifie 22

What is the role of advertisements in modern mass media?
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T T o HTSAT o A1 § FoR® ST SITAT @ SR &1 qoh "fed I &l

What is known as new age media and why? Answer with reason.

203§ H ST@ET AT fHFhT 0 FHTRT ST |

Throw light on the role of newspapers in the 20th century.

T H ATEAHT T et hITSTT 3T IHeRT T SIeT3T |

Mention the main communication mediums and explain their impact.

S =R HTEAE! e o ' ferflay |

Write the advantages and disadvantages of mass communication mediums.
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AT 15— odlibdd d SI9=HIRdar

!‘L Chapter 15 - People’s Participation in Democracy

(TUE- 37) TS T
(Section-A) Objective Questions

1.  9Rd H foret safth o1 HATiIeh I shel SHTH &1 Fehel 27

When can a person's voting right be terminated in India?

(37) & =TT ST =T =S feram 7 2
(a) When declared incompetent by the court. v N
: (&) 15 AR 18 T oY 377 ot o2 T &

(b) When a person has completed 18 years of age.
() € TG T AN 7| (c) When he/she is a citizen of India.
(3) 3T AAQTaT e U T T @1l (d) When voter ID is not available.

2. VA H g Aiearel o foT 3Treror ot e 87

Where is the reservation system for women in India?

(37) SAHET I (a) In Lok Sabha
ﬁ_/? (@) foremasm o (b) In Vidhan Sabha
%’I/ (@) T e | (c) In local bodies
GEELEES T (d) In the Cabinet

3. ehdA § TSHTdeh & T el M ¢ -

The main function of political parties in democracy is -

(37) =TS (a) Elections T _“
EEIGNE (b) Protests |I Wul_ |
(F) |1 SEART (c) Transfer of power .
() STHHA ht fmor (d) Formation of public opinion
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4.  AveRd Shl G (14T Lt @

The success of democracy depends on -

(3T) ATATTEhT AT JSTATAT T (a) Citizens' apathy

(&) ARTHGERT 6T TR AT FEATE W (b) [llegal actions by citizens

) TTTiCRT St ﬁéasqgf RITHTAT 0 (c) Thoughtful participation by citizens
@) T § IS Tl (d) None of the above

5. Tohds ST ST ST o I GT ST o 7T I © I8 o foraent 2 -

"Democracy is government by the people, of the people, and for the people" whose

statement is:

RPN
(37) 3TE] T (a) Aristotle J j"
I EEIRANEEE) (b) Abraham Lincoln
€3)) T T (c) Rousseau
(3) TRTCHT Tl st (d) Mahatma Gandhi

6. TrafaRaa & & gdveny afecArst ot gag™ 1 AfeeRR fohe Tree o feam -

Among the following, which country first gave woman the right to vote?

(37) 9 (a) India
(@) A fer (b) Australia
@) forea (c) Britain

(3) STufE (d) America

SA-1 (2@ M3 @)4@S5@F) 6@

Answers-1 (a) 2 (c) 3(d)4 (c) 5(b) 6 (c)

(@rvz-a) fies Tt i afd Shifr - wlal
(Section-B) Fill in the blanks:

O LS Y ST TR Y01 B O QT ST SRR 2

In India one has the right to vote after completing ................ years of age.
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2 RA Y Al sh! TATHHT o6 AT f-eoet Tma s R .. AT 2
In India, the task of conducting impartial elections for the establishment of
democracy is done by ............. . d
3 ©Eg H A wial s Taifeeh T ... SAH B
The highest percentage of female MPs in the parliament is in the country of
4 SAEEWIRIAT T HaTteeh STHEE AT ., 2
The most essential medium for public participation is ......................
5 ReFREAIRTHEEH o FeITe g T fHeRT off|
In passing the Hindu Code Bill the important role is played by ..................
pressure group. vf—.
U | C R RS EINE I e Ak (e 1 2
In democracy, the primary function of the political party is .........cccceueee... .
I - 1. 18, 2. TATE TR, 3. &7 STHIHT, 4. HASH, 5. AT, 6. SHAA AT
Answer - 1. Adult, 2. Election Commission, 3. South Africa, 4. Voting, 5. Women, 6. Public
opinion formation
(@Us- ®) 3fa deter AU -
(Section-C) Match the following:
1 eMfde e (37) AT fod @ 9
Political Party (a) Commercial Interest Group
2 A HER () SHHT SIS
Election Commission (b) Voter Awareness
3 T19529 e dH GREEIREXREIREicau
From 1952 till now (c) Registration of Political Parties
4 TSI WS (3) HASH T HARIHR —-“
Trade Union Organization (d) Right to Vote

IW-192T3T4 3 "

Answer-1b2c3d4a
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el 3T T (6 30F)

f..

N Long Answer Questions (6 marks) d
! 1 Tyt AR & forel ©: Sl 1 aui shifeg)

Describe any six functions of the Election Commission.
2 ArRds H SO g Sl FT ATTRIRAT 82 SRS hif|
What is the need of a political party in democracy? Explain.

3 Hderdr 5 hEd & ? Hae SHagR shi THITAd ol Tt ded Shid-shiT 9 & ?

Who is called a voter? What are the factors which affect the voting behaviour?

4 ATehd H TS ST hT STERT R STEAT @ 2 GHeTST|

Why is the right to form an organization important in a democracy? Explain.

5 wfgdr qaaTarel % HagH T I SH 8 & B: SR [y o

Write the six reasons of less percentage of women voters' in voting.

6 TS EHE %1 3 ferivaTd ferflag

Write the importance of pressure group.

7 Greifies SR HATieRR 7 81 ol &1 SITT?

What will happen if there isn't universal adult suffrage?

S
4,_\)\‘
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SHIs—9 (UNIT -9)

(TUS- 37) TEHE T

(Section-A) Objective Questions

1.

AT T HTRHR o FTT ST hl EATT foh TS & 31T 2

(31 foreme () TISTET

(T SR (3) T

From which state did the movement for the Right to Information begin?
(a) Bihar (b) Rajasthan

(c) Uttar Pradesh (d) Haryana

ot et o Rfeash 7o R 82

(37) rfeareft () SFeTHET

(®) aferd (@) fot st
What is the literal meaning of the indigenous people?

(a) Tribes (b) Minority

(c) Dalit (d) Backward caste
fremfifee 2

(1) T AT (W) STFTEE e
() T vt (3) T T

Is it Niyamgiri?
(a) a movement (c) a bauxite reserves

(b) a mountain (d) a king

60

AU 16 — odldbdd 3AJR AMHISIS T<Ied- :&i

Chapter 16 - Democracy and Social Movements



™

L

4. VIRA H G T SRR AAIH AL 3T:

(37) 2000

(¥) 2002

(&) 2001

() 2005

Right to Information Act came into force in India:

(a) 2000
(c) 2002
5. T HARIHR =TT TR g3 -
(31) = wigdl <kt HiT o6 foTg
(F) T A ol STHRRT o foIg,

(b) 2001
(d) 2005

() YSTET oh! 3SR i 1 fetw
(%) ST @i

The Right to Information movement began for -

(a) Demand for minimum wage

(b) To expose corruption

(¢) For information on the master roll (d) All of the above

6. ifd o feTT TG i T&T 339 @ -
(37) T 1 THAT
(51) TTHTY] 37 TR O s

ENERICIETI
(%) SWh |+l

The main objective of the peace movement is to -

(a) Stop war
(c) Ban on nuclear weapons
JAG-1 () 2(F)3 (4@ S5)6(Q@)

(Erue-=) fies ot st afd Hif -
(Section-B) Fill in the blanks:

(b) Disarmament
(d) All of the above

Answers- 1 (b) 2 (a) 3 (a) 4 (d) 5 (b) 6 (d)

O REAUITESCS RS ER:RCT T B T T 3T B

Mining in the Niyamgiri tribal area is a violation of the ....................... Act
2 QUEEHE T Y HHTSHT SAfereh et &)

The possibility of ................. disease increases with nuclear bombs.
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The purpose of the peace movement is to emphasize on ................. )

4 AXH 1945 T SFHTEHT I THT] 51w T 2 o
In.oeeene, in 1945 America dropped the atomic bomb.
5 Horgl T TS o Tiomet o T ST o, S e Ed 9l

The register in which the wage record was kept is called ................. .
I, 1 T 2 e 3 IREAeRTOT 4 ST 5 7EX A

Answer. 1 Pisa 2 Cancer 3 Declassification 4 Japan 5 Master Roll

(T@UE- ¥) Sfera Hae AT -

(Section-C) Match the following: VA ‘ :
1 FHW AT 100 (37) T ST
Committee of 100 (a) A tribe
2 grfEr e () TTHRY AISHT
Dongria Kond (b) Government scheme
3 wam () T o
MGNREGA (c) A mountain
4 fEmfii (3) Tifer T
Niyamgiri (d) Peace organization

- 1(8), 2 (3). 3 (@) 4. (F)

Answer- 1 (d), 2 (a). 3 (b) 4. (¢)

Y I T - (3 3ih)
Short Answer Questions (3 marks)
1 w7ifq ARG o a9 389 foafe |

Write three objectives of the peace movement. —-—“‘

2w fai & wurie et e s g Rt ® 9 2

Why were the local residents of Niyamgiri opposing mining?

3 TS ¥ B ATl e THAH o 9 | fafag 2
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Write about the terrible damages caused by atomic bombs.

&5 4 Hfgll o SiTe T sh folq HTshIL FT-oRIT ohiell © 2 ]
!‘ What does the government do for the livelihood of the laborers?
5 et o avEsT |
Explain disarmament.
6 I AT 100 fore 7 2ifr ST ST eish FT T8l o 9 ? T fAfaw |
Why couldn't the Committee of 100 successfully conduct a peace movement in
Britain? Write the reasons.
g 3T O (5 3h)
RPN
Long Answer Questions (5 marks) J e
1 T forg g oh wre R qeao s ok geaioms @ gy 2
What were the adverse effects of the atomic bombs dropped after World War I1?
2GR SR T 82 I TRl I 8T 2
What is a social movement? Why does this movement occur?
3 S EAATS § ST I G TS hl AT Iea[ H feAfan
Write in your own words the experience people had from public hearings.
4 QTSR AT=EIe sht Yehld a1 e faward fafag
Write the nature or main characteristics of a social movement.
v 5  femift reie ot forar @ guie Fhifsie | 9
— Describe the Niyamgiri movement in detail.
6 Srifa ST | YT AT 3Tt ohY Tehe o foTq 3T shed 337 Fehd 292 3194k fomm &

SRIT o ST ST T R ST &2
What steps can people involved in the peace movement take to stop unrest? Why

do you think peace is essential between countries? w—Y
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AT 6 A9 3JAferar
!ﬂ Chapter 6 Human Settlement el

(TUS- oY) TS T
(Section-A) Objective Questions

1. TTHior S5 H AT o ge R sEdl st fehre forer stferame o wfaey 8-

In rural areas, the development of a settlement with the help of a railway represents

which type of habitation?

(37) I faey (a) Radial Pattern
EPVN
& @) i gfasa (b) Linear Pattern #f e
(|) AR Sfawq (c) Star Pattern
(%) IdThX BIREe) (d) Circular Pattern

2. UddR Yawi o e =i | i | e e | 2

Which type of settlement is found in the lower valleys of mountainous regions?

() Ueett (a) Clustered
(sT) && (b) Compact
) Tehiof (c) Dispersed

Wid @) b (d) Mixed
3. gror srfrerEt shi srefeaen fore saaa w it wdi ® -

Economy of rural settlement depends on which business:

CORIRIEED (a) Primary

E)EEiRE (b) Tertiary 93
GINESIRED (c) Secondary I

(3) =Iqdh (d) Quaternary i |
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4. gddl 9T foRE TR T STRETE 9T S R 2

What type of settlement is found on mountains? d
(31)3\'1'\@35 (a) Linear

€C)) ﬁ‘ﬂw (b) Triangular

(H) AITdTRIT (c) Rectangular

() Hrefigm (d) Terraced

5. el fori feyd arHe stfdeme gfasy gar e -

Which type of human settlement pattern is situated by the side of a pond?

(37) T ey (a) Star Pattern vf—. ¥
() FATRR TfaET (b) Circular Pattern

(@) i afae (c) Linear Pattern

(3) FETHR T (d) Radial Pattern

6. TG G U I=TE A shl SHEEAT ATl S8 hl hed o-

What do you call a settlement with a population ranging from ten lakhs to fifty

lakhs?

(37) &l (a) Town

(<) HETTX (b) Metropolis
(®) T (c) City

(]) g&g TN (d) Megalopolis

ST 1 (), 2 (31) 3 (3),4 () 5(F) 6 ()
Answer- 1 (b), 2 (a) 3 (a), 4 (d) 5 (b) 6 (b)
Y I I - (3 3ieh)

Short Answer Questions (3 marks)
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AT T Bl THTTed Shi STt i ShTTehT ohl 32TeLUT Hid US|

Explain three factors affecting human settlements with examples.

T T4t il ST Sl gHesy)

Explain the concept of a smart city.

3 TR W hiF-ohi H HHEIT 30T 81 T 22 ISTET0T 2ot FHETST (hiS o)
What problems are arising due to urbanization? Explain with three examples.

4 Sfeame for-for atTarareRarstt i g ahar 22
What needs does a settlement fulfill?

5  HME % {0 SATETE R STEEH © 2
Why is housing necessary for humans?

_ e 3T O (6 3Th)
Long Answer Questions (6 marks)

1 i i) ht 3cat shl THTfeId i Tt Sheh! ol Sl ohITSTy|
Mention the factors influencing the origin of urban settlements.

2 TR R sTawemel & aviq shifs)
Describe the stages of development of a city.

3 grir SAferame it ufcedt st i i
Describe the types of rural settlements.

4

™

L

forett T o fereprer foret foby afaremaft & Tear @ 2

Through which stages does the development of a city pass?
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AT 21 BT
- Chapter 21 - Globalisation ol

(TUE- 37) TS T
(Section-A) Objective Questions

1. AR T FROT AT S -

What is the reason for globalization?

(37) SIEUSERT shufar (a) Multinational companies

() SRR (b) Liberalization VAN
i (F) 99 T JrenfiEht (c) Communication and technology -

() 39 |+t (d) All of the above

2. g uheur h Ui R -

The process of intense integration is -

(37) SefteRTor (a) Globalization

() CIRNIEZUI (b) Industrialization

(F) "SR (c) Socialization
/}?// (@) TR (d) Urbanization

— 3. ST o el TR -

Globalization is referred to as -

(3) Tefftehtor (a) Modernization

(@) Fsfrertor (b) Privatization

() ST (c) Globalization Thih
(3) SETeRTT (d) Liberalization )
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AT AR Haieft e o1 faffe e areft deen e 2

Which institution determines the rules related to international trade?

(37) IEECED (a) World Bank

() AT THo Tho (b) IMF (International Monetary Fund)
(@) S50 o 3lo (c) WTO (World Trade Organization)
(%) Jo Tdo 3o (d) UNO (United Nations Organization)

ST o BTTET 3l ST o ATGeh! o sitel Tfereaei-

As a result of globalization, competition between the producers of two countries -

(1) hw Bt (a) Will decrease
(<) =1 STt (b) Will increase
(W) Tt sreelt Tt (c) Wil keep fluctuating
GERIEEENE U (d) No change will occur

=TT ST el TR THTE Toh &1 | 3@T T 21

The most negative effect of globalization has been observed in which sector?

(37) N T TTHIOT (a) Agriculture and rural

() TSR (b) Employment

€3) EED (c) Banking

GEEL (d) Industry

7¢ arTfofer fifer 3 e € -

The factors of the new economic policy are -

(37) Frsfiertor ud Srefiemtor (a) Privatization and globalization

(&) LT TS TR (b) Globalization and liberalization

(H) SERIRLT T freftapoT (c) Liberalization and policy formulation
(3) eI, fsfiertor wa Iefietor  (d) Liberalization, privatization, and

globalization
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ST-1(@)2 @) 34 F)5(F)6(3)7 ()

Answers-1(d)2 (a)3 (b)4 (c)5(b)6(a) 7 (d) d

(Tus-a) fw Tamt Y gid ik -
(Section-B) Fill in the blanks:
1 ORI TERAT 1992 F i Fifer 17T

The Government of India adopted policy in 1992.
2 Jefiertor o T QY forg o SIS B HERIN
Due to globalization, markets all over the world have become PV, *¢
3 wid % gfafid saursdty g ot | &S
is a reputed international cement company of France.
4 IJfoTy ECIk
By globalization increased.
5 Jefieor & R 8 a7 Y AT g R
Due to globalization has benefited the class of the urban area.

IR, | ISR 2 THIHIUT 3 ATHSI 4 ITFRRIETE 5 &1

Answer. 1 Liberalization 2 Integration 3 Lafarge 4 Consumer 5 Rich
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(@vE- 7) 3fem wee S -

& (Section-C) Match the following:
N\
- 1 Sg U shutar (37) JaTieRtoT, Fsftertor ud Jafiemtor ol
Multinational Companies (a) Liberalization, Privatization, and
Globalization
2 JefieRtor T g () ATereh <IN § SedTe 3T nfied
Effect of Globalization (b) Production and Ownership in More
Countries
3 7% o Hfifq & oo (@) faresft =mm
Components of New Economic Policy  (c) Foreign Trade .
4 @I H A sl (&) =T < S forehrd '{'-‘
Selling Goods in Other Countries (d) Development of Information
Systems
SA-1 ([ 2@ 3EF4®) | Answers- 1 (b) 2 (d) 3 (a) 4 (c)

fa o1y 3w w4 - (3 3%R)
Very Short Answers Questions - (3 marks)

1 ffoRT € SIS SeATEehi i b - Shi - | AT hT AT HEAT TSAT & 2
What challenges do small producers face due to globalization?

2 oy TR EST T R, 3T IS hel T AT Tnfua foRm TR 2

What is the World Trade Organization, and when and why was it established?

™

B

3 g U AT €h SUSHH T T 87
Why do multinational companies operate joint ventures?

4 efiertor Y ufskar § for <A o1 yaTE SET ST R 2

What things are seen following in the process of globalization?

5 3T ATHIT T hi € <ol Sucted 8, ST &4 A au ¥ Stredt 82

What are the things available around you that connect us with other countries?
6 IS ST ST Hict T &2

What is a mall or shopping mall?
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f._.

" Long Answer Questions (6 marks) d
- 1 Jefteror wforss O ST @I sheaHT i foh 311t & s &y e T Shar g 2 feaflay

Globalization will continue in the future. Imagine what the world will be like when
20 years from now.

2 pefterter ohl fawT H WA HERR A 199 16 &1 T siaerd fohar?

What major changes did the Indian government make in 1991 in the direction of

globalization?
3 o ST R 39 Seee gohrd e 5 G o e o e e vt
g7
What things do multinational companies keep in mind before setting up a V) '?
: production unit in a country. -

4 TR | 0T Y T9T hl T8 KT |

Explain the impact of globalization in India.

S
4:\)\‘
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